[TomuHOMBI:
P, () = amz™ 4+ ...+ a1z + ag, Qn () =apz™ + ...+ a1+ ag

Jlemenne ¢ OCTaTKOM:

Pp(2) =Qn(2) Rm—n (@) + 1 (z), I<n

Ry —n () - wacrHoe, r; (x) - ocrarok. r; () =0 - Py, (z) Ha Q) (x) Jeawrcs Hateso.
P,, (b) = 0: b - KopeHb.
P, (x) =(x—b) Rpm—1 (x) + 10

Pm(b) :0: (b—b)Rm,1 (x)—i—ro =70
P, () =(x—b)Rpm—1 (x)
Po(2)=(z—b)?Rpo(z)=...= (x—b)" Rp_s ()

k - kparHoCTH KOpH: b.
Ecau 6 + iy - xopeHb, TO § — 7y - TOXKe KOpeHb. KpaTrHOCThH paBHA.

P (@) = (2~ 0~ i) (2= 8+ )" B (2) = [(2 = 8 ~ (17)?]" Roncae (2)

= (2* — 226 + 6% + 72)k Ry—2p ()

B wurore ‘
Pm (CL’) = (:L’ — bl)pl . (l’ - bl)pl ((E2 + ax + 51)% .o (1’2 + ;T + ﬂj)qg

prt+...+pi+2(@+...+g)=m
P, (z)
Pm(l‘) Tl(m)

m < n (OpaBuIbHASA IPOOB): METOJ HEONPEIeNEHHBIX K03(hdhunuenTon

WNurerpan pam. dyskimn:

m > n (HeupaBuiibHas 1POOb):

= Ryp—n () +

Qu(z) = (x—b)" ... (x = b)" (2% +aaz + )" .. (2 + ajo + 5;) Y

B ()
=...+..
Qn (z)
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Paznoxxum
L4 BerC_ AW+ B0ty
(r+1)(@2+1) z+1 a2+1 (z+1) (2% + 1) '
YUCJIUTEJIN:

A(@@*+1)+ (Bz+C)(z+1)=1,
Az’ + A+ B2’ + Bz +Cz 4+ C =1,
(A+B)2> +(B+C)z+ (A+C) =1.

{ A+ B =0,
B+C =0,

A+C=1
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rorga o (19)

1 3 —3r+35 1] 1 -1
(x4+1)(22+1) x+1 z2+1 2 z+1 22+1
dx 1 1 r—1 1 1 T 1
B N e P do— [ =24 — da| = 2
/(x—l—l)(aﬂ—&—l) 2/[$—|—1 x2+1} v 2[/3:—1—1 v /x2+1 x—'—/xz—i—l x] (26)
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